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QUESTION 1

Which of the following is incorrect with respect to XML?

A. An XML document features high data readability

B. An XML document can be transmitted over general-use protocols such as HTTP and SMTP
C. XML is designed with the ideal structure for storage in an RDB (relational database)

D. Some RDBs (relational databases) can output results data in XML format

Correct Answer: C

QUESTION 2

Which of the following is clearly an unnecessary step in procedures to create digital signature via XML-Signature?
A. Prepare a key for signing

B. Normalize the subject of the signature (normalization via Canonical XML, etc.)

C. Remove namespaces in the subject of the signature

D. Calculate a digest of the subject of the signature

Correct Answer: C

QUESTION 3

When receiving an XML document following the DTD defined by NewsML (portions modified for this question), the
document is processed via SAX programming.

[DTD]
<!ENTITY % localid " Duid ID #IMPLIED
Euid CDATA #IMPLIED">

< !ELEMENT HNewaIdentifier (ewaItemId .,
Eewvizionld) >

<!ELEMENT MNewaltemId (H#PCDATL) >

<!ELEMENT RewvisionId (#PCDALTL) >

SIATTLIST BewvisionlId Update CDATAL #REQUIRED >

< !ELEMENT Identification ([MNewsIdentifier):>
<!ATTLIST Identification 3%localid; >

< !ELEMENT HNewsItetwn (Identification) >

< \ELEMENT NewaML (MewaItemt) >

Push the Exhibit Button to load the referenced "DTD". When processing the following "XML Document" according to the
method shown by "SAX Processing," which of the following correctly describes the output results (print method output)?
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Note that the attribute value is not output for this question.

[¥ML Docwment]

The root element name [(document element name) is "NewsML".

The ML document follows the "DTD" definition.

The XML Document has no document type declaration.

The ZML Document iz comprised of elements, attributes and character dats; comments and CDATL secions, etc. are not

ineluded.
The HML Document is indented, and includes ignorable white spaces such as line feeds and tabs bhefare the start-tags.

[S4X Processing]
Use the following "ContentHandlerImpl"™ class, and parse the EML Document using 34X,

Assume no eXecution errors.

claszs ContentHandlerImpl extends DefaultcHandler
private String elementlagune = "'

public volid star-Element |
String newesyaceURI, String looslllswne, String cffsans, Attributes stt=)

throws SAXException {
elementName = glame;
F
public void endElement |
String nawessacelURI, String localllawe, String oilsme)
throws SAXException {

elementlame = "";
3

public woid characters(char[] ch, int start, int length)
throws SiXException {
if [ elementMName.equals("") == false | {
System.out.print (new String(ch, start, length)):

A. All character data of elements can be output, ignorable white spaces are not output

B. All character data of elements can be output, and ignorable white spaces are also output
C. A portion of character data of elements cannot be output

D. No character data of elements can be output

Correct Answer: B

QUESTION 4

When processing the following "XML Document" according to the method shown by "DOM Processing," which of the
following correctly describes the output results (print method output)?

[ZML Document]
<dopr<oontent>Today!' s<bold>"hot"</boldrnews</content></ doo>

[DOM Processing)
Process £ML using the followihg method.

princXML [ doc ) ;
The warisble doc here referencez the Document instance of the loaded XML Docwwent.

Lzsure no execution Brrors.

publ-c static void printZML [ Document doc )

Element content = [(Element)doc.getDocumentElement () ..getFirscChild() ;
HNodeList nl = content.getChildNodes i) ;

System.out..print | nl.geclengthil ):

Elewent hold = [(Element)content.getElenmentsByTagare [ "hold™ | .item(0]
content.removechild| bold );

Jystem.out.print|{ nl.geclengthil ):
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B. 43
C. 42
D. 33
E. 32
F. 31

Correct Answer: E

QUESTION 5

Select which of the following correctly describes the results of performing a validation check on "XML Document"”.

Assume that the XML parser correctly processes the XML Schema schemalocation attribute.

[ZML Document]
<TestlL xmlns="urhn:xXmlmaster:cestml™
xmlns:xsi="http:/ vvw. w3 .org/ 2001/ XML3chema-instance™
¥xal:achemalocation="urn: smlmascer:testml tcestml.xsd":>
<record lewel="1" data="100" />
<record lewvel="Z"™ dats="2Z50" />
</ TestML>

[Cestml.xsd]

“x3:3chema
tnlna:xa="htecp:/Sfvww. w3 . org/ 2001/ XMLSchema™
targetMNamespace="urn: xmlraster:testml”
*xmlns:ctns="urn: xmlwaster:testml'=>

<¥3:import namespace="urn:xmlmaster:testml™
achemalocation="record. xsd™ />
<xa:element name="TeatML" type="tna:testmlType™ />
<¥s:complexType name="testmlType":>
XS Ssequence>
<x3aielewment ref="tna:record” maxOccurs="unbounded" />
</ w31 3equences
</uz:complexTypesr
</ ®3:schemar

[record.xsd]
<X3:3chema
mlna:ws="http://fuuw. w3 . org/ 2001/ XMLSchema ">
<us:element name="record" type="recordType" /=
<xg:complexType name="recordType">
<xa:attribute nawe="lewvel"™ type="w3:int"™ S
<us:attribute name="data" type="xs:int"™ S=
</®aicomplexTypes
</ w3arschemasr

A. Valid

B. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" import element

C. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" "
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D. No processing error, but is not valid.

Correct Answer: B

QUESTION 6

Use XSLT transformation to create XML according to the schema (portions modified for this question) defined by
TravelXML.

Perform XSLT transformation on the "XML Document” using the following "XSLT Style Sheet". Select which of the
following correctly describes the results of performing a validation check on the post-transformation XML against the
schema ("XML Schema" referenced when the Exhibit Button is pushed).

[EML Document]

<Iorm xmlns="urn:xmlmaster™:>
<fieldl>3ky S3tar Hotel</fieldl:x
<Fimldzs</fim1da>
<fieldir</fieldix

</ Torm=

[ESLT Stwvle Sheet]

<xsl:.stylesheet version="1.0"
¥mlns:xsl="heotp://vuw. wi.org/ 1999/ X331/ Transform”
*»mwlns:fw="urn: xmlmascer”
exclude-result-prefixes="fm">

<xsl:template match="7">
sxsl:element name="BookingWNotification®
rmlns="http://wuw. xmlns.ore/ 2003/ Trave 1ENML "=

<xzl:element name="AccommodationInformation'>

“xsliglenent name="iccomtoodat ionllstee T
<®glivalue—of select="fm:form/tm:fieldl™ />
</wsl:element:
<xzl:if testc="fm:form/fm:field2/ cexn () >
<xzl:element name="Chainlzuns">
<xsl:value—of select="fm:forn/fm:fieldZ"™ /=
</xzlielement:
<fwsliif-
<xzl:if test="fw:form/fm:fieldld/text () ">
<xsl:element name="AiccommodatiorPhoneNunber ™=
<wzl:value—-of select="fm:forn'fm:fisld3™ />
</fxzl:element:
<fusliifs

<fxzlielements
<fx=l:elements
</xsl:templates
</wal:atylesheetsr

A. The root element (document element) of the post-transformation XML is an empty element, and the post-
transformationXML is not valid against the schema

B. The post-transformation XML does not include the required elements defined by the schema (all elements defined
oncethey have appeared, namespace reflected); therefore, is not valid

C. The post-transformation XML includes all of the required elements defined by the schema (all elements defined
oncethey have appeared, namespace reflected); however, is not valid
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D. The post-transformation XML is valid

Correct Answer: D

QUESTION 7

Select a valid XML Document against the "XML Schema" referenced when the Exhibit Button is pushed.

[XML Zchemal]
<¥3:schema
xmlns:xs="http:/ www,. w3 .o/ 20017 XML chema™
cargetMNamespace="Turn: ¥xmlmsster: tcestml™
*mlna:tns="urn: xmlmaster:testml™>
<¥s:elenment hname="TestML ">
<xa:complexTypes
<HS:sequencesr
<us:element ref="tns:scenario™
maxoccurs="unbounded” />
</ u3:sequencer
</ waicomplexTypes
Sl mm i e leme it

<xa:element name="acenario®:>
<xs:cowmwplexType:
<HIZrgroup reZ="tns:elements" S
<¥arattributeGroup ref="thna:atctributes™ />
</waicomplexTypesr
</xzielements

<Haigroup name="TelemenctatT
LH3 I SeqUENCE:

<x3:element name="content” type="usz:atring"
P2
</ W3 3equence >
</ ¥31group>

<xa:attributezroup name="attributez":>
<us:attribute name="level™ type="xs:int"™ />
<x3:accribuce nawme="data"™ type="xg:int" S
</ waractribhuteGroup
</ xs:schemas

<ws:element name="title™ type="xs:string"™ />
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S <TestML =mlns="urn:=nplmaster:testml”-
<acenario lewel="1" data="100">
<titlerPrologue</cicles
<gontent»Long long ago...</contents
</acenariosx
</ TeatML>

{" E <TestML =#mlns="urn:=“rlmaster:testml™:
<acenario level="1" dats="100">
<title mmlns="">Prologue</titlex
<zmontent mmlns="":Long lohg &go...</contents
</ scenarioxr
</ TeatML>

{ C <TestlL =#mlns="urn:=“rlmaster:testml™
Hmins:tns="urn:xmlmaster:testml" >
<gcenario tns:level="1" tns:data="100">
<titlexPrologue</citles
<montentr»Long lony ago...</contents
</ scenariox
</ TestMLx>
S <TestML =zwlns="urn:=nlmaster:testml™
Hmins: tns="urn:xmlmaster: testml" >
<acenario tns: level="1" tns:data="100">
<title xmlns="">Prologue</titlex
<oontent mmins="":Long lohg Ago...</contencs
</ scenariox
</ TestML>

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 8

Which of the following does not correctly describe WSDL (WSDL 1.1)?

A. Under the WSDL definition, you can use the import element to import another WSDL definition
B. You do not need to specify a binding element when creating a WSDL definition

C. When a service operation is a "One-way" type, you can specify a fault element to designate the error message type
asthe child element of the operation element within the protType element

D. When a service operation is a "Request-response" type, you can specify a fault element to designate the error
messagetype as the child element of an operation element within the portType element

Correct Answer: C
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QUESTION 9

When processing the following "XML Document" according to the method shown by "SAX Processing," which of the
following correctly describes the output results (print method output)?

[EML Document]
<docr<content>East<! [CDATA[ &] ] >West</content»</doc>

[SAX Processing)
Tae the following "ContentHandlerImpl™ class, and parse the XML Document using JAX.
Lzzsume no exXecution errors.

class ContentHandlerImpl extends DefaultHandler |
public void characters(char[] ch, int start, int length) throws S4XException
IJystem.out.print (new 3tring(ch, start, length)):
b
¥

A. EastWest

B. EastandWest
C. EastWest

D. East

Correct Answer: B

QUESTION 10
Which of the following is a correct statement about XML security?

A. To encrypt an XML document using XML Encryption, the XML document must already have been normalized
(normalizationvia Canonical XML, etc.)

B. To attach a digital signature to an XML document using XML-Signature, the XML document must already have
beennormalized (normalized via Canonical XML, etc.)

C. SSL cannot be used as security when sending an XML document
D. To encrypt an XML document using XML Encryption, character encoding for the XML document must be UTF-16

Correct Answer: B
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